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SUMMATIVE ASSESSMENT - 11,2012 | MA2-071

wifora / MATHEMATICS
e - X /Class - X

Fruifta @ : 3 gue IrfireRaw 37 : 90

Time allowed : 3 hours Maximum Marks : 90
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General Instructions:

(i
(i)

(iii)

(iv)

All questions are compulsory.

T'he question paper consists of 34 questions divided into four sections A, B, C and D.
Section-A comprises of 8 questions of 1 mark each, Section-B comprises of 6 questions of 2
marks each, Section-C comprises of 10 questions of 3 marks each and Section-D comprises
of 10 questions of 4 marks each.

Question numbers 1 to 8 in Section-A are multiple choice questions where you are required
to select one correct option out of the given four.

There is no overall choice. However, internal choices have been provided in 1 question of
two marks, 3 questions of three marks each and 2 questions of four marks each. You have to
attempt only one of the alternatives in all such questions.

Use of calculator is not permitted.
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Question numbers 1 to 8 carry one mark each. For each question, four alternative choices
have been provided of which only one is correct. You have to select the correct choice.

et & | i o sufels gem ¥ ?
3

G - ®) 29 © 32 (D) 414
Which of the following numbers is an irrational number ?
(A) ; ® 249 © 32 (D) 414

Ffe Gt 898 ax® + bx + ¢ % AT Yk IR F FHE oy faoda R ¥ ApF AR R
@A) o (B © -1 D) 5

If both the zeroes of a quadratic polynomial ax2+ bx + ¢ are equal and opposite in sign, then
bis:

@A) o ® 1 © -1 D 5

afg AABC ~ ADEF €, BC =4 &, EF =5 S} 9T ar AABC =80 12 %, W ar (DEF) SRR @ :

(A) 100 @ (B) 1259 (© 150 & (D) 200 &%
If AABC ~ ADEF, BC=4 cm, EF=5cm and area of AABC =80 cm?, then area of ADEF is :
(A) 100 cm2 (B) .125cm2 (C) 150 cm2 (D) 200 cm?

AfE sing = cos & T 2tand + cos?) F1 A & :

i 5
@ 1 @ - © 5 O
If sinf = cos#, then the value of 2tanf + cos?6 is :

1 5

B = C = D =
@ 1 B @ 3 ®)
8 T A JHR

215 » 510
(A) wWa¥ ®) igeny
(C) T Sl & (D) ¥ sl §
The decimal expansion of 35 50 is:
(A)  terminating (B) whole number

(©)  non terminating but non - repeating (D)  non -terminating repeating

FHEHN ayx + bry + 1 = 0 T apx + bay + c2 = 0 51 Frefira Yend gt & af :

a, b a, b, C
A L B o Sl P
& a, b, ® RS - R

a b. c a b, c,
[ Skl L D B Pt R
2 a3 b o q a b o
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The lines represented by the equations aix +biy+c1=0 and axx + bay +c2=0 are coincident
if :

oy B
cos?x + sin2x TR T :

@) x ® 1 = = o =
cos2x +sin?x is :

@) = ® 1 © 3 © =

Frifepa sifeel i Tgeh | +

fl_fi x h BT e B, Set | frefa s €

2h=fo=fa

(A) o e i

(B) 3@ o @ o i e aer sttt §

(©) o & e e et e = &

(D)  @ifm it & fe s

The mode for grouped data is given by I + ashsfl X h where [ represents :
2hi-h-h

(A)
(B)
(©)
(D)

lower limit of the first class
lower limit of the class with highest frequency
lower limit of the class with lowest frequency
lower limit of the last class

@us-d / SECTION-B

T A1 9§ 14 H Wl U¥ 2 3 H 2|
Question numbers 9 to 14 carry two marks each.

feelt neN % fore it T fo6 =/am (15)" 1 37 1 37 ¥ & w1 & 2
Check whether (15)" can end with digit 0 for any neN ?

e fgema wigus fafae s = (V2 + 1)@ (V2 - 1)E |
Write a quadratic polynomial whose zeroes are (v2 +1)and (v2 —1)

& 7 aTgfd §, OA x OB=0CxOD ¥ | SWEC ff LA=2C M £B= 4D RI
A

C
o

In the given figure, OA x OB=0C x OD. Show that ZA=ZCand £B= £D
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13.

14.

15.

g I 3 :5in35°in55° — c0s35°c0s55° =0 & 1

Prove that:  sin35° sin55° — c0s35°c0s55° = 0

AfE TEIR 22+ 3x + xm@w%%?ﬁxmmwwwmﬁm |

If one zero of the polynomial 2x2+3x + \ is % , find the value of \ and the other zero.

frr st 1 sgerd 52.5 & @ ST WA 54 §1 i waft F e & e wdifae
(empirical) Fa T FART FH TGS A HISC I

Median of a data is 52.5 and its mean is 54, use empirical relationship between three
measures of central tendency to find its mode.

YT /OR
et aThel & fore we ‘A ot YR 1 U WA SRERT 92 SR
EC 0-10 [10-20 [20-30 [ 30—40 [ 40-50
EE TR 3 8 15 7% 5
Prepare a cumulative frequency distribution of more than type for the following data :
Marks 0-10 [10-20[20—30 [ 30—40 [ 40—50
Number of students 3 8 15 7 5

@us-¥ / SECTION-C
T W 15 ¥ 24 H 9IF F 3 39k ¥
Question numbers 15 to 24 carry three marks each.

WW&WABCD%WWOWEWWM%%%=%%| TEn

ABCD T |welel €1
D c

e Vo

A B
The diagonals of a quadrilateral ABCD intersect each other at the point ‘O’ such that

ot . Show that ABCD is a trapezium.

BO DO
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17.

18.

19%

20.

2L

A B

TG p(x) =23—522+3x—3 Hl g(x) =x2—2 § W A qen wfeom 1 farse weridies g
Heaaa Hifere |

Divide the polynomial p(x) =x3—5x2+3x—3 by g(x) =x2—2 and verify the result by
division algorithm.

fog ifo i V2w s e @ |
Prove that2 is an irrational number.
3reraT JOR
Ffaere fasrer Teriiftem o1 g i o8 99t § 9! Hedl 19 Hiferg s 245 41 1029 FH
I 3 R 95 99 9 |

Use Euclid’s division algorithm to find the largest number which divides 245 and 1029
leaving remainder 5 in each case.

3 cost — Zir.
M sing = = ¥, A | —tan® | o7 qR F@ R
5 2 cott
3 cos® — =l
Ifsing = — ,evaluate | ______tanf
5 2 cot

TITET foF 8x2 —30x + 27 1 U YIS TEX 1 o €1

Show that one zero of 8x2—30x + 27 is the square of the other.

T T W 3 IAH A FT Y F3 AR 12 T TEAK IHHI 1, ST I H A B A
Bt | SR A Y T RIS |

A mother is three times as old as her son. After 12 years her age will be twice as that of the
age of her son. Find their present ages.

379raT JOR
x @y % ford & AT : 370 +43y=123 ;  43x+37y=117
Solve for x and y: 37x +43y=123 ; 43x+37y=117
=1 5 1 Sger T IS :
ELlE 20—25(25—30 [ 30—-35 | 35—40 | 40—45 | 45—-50 | 50—55
sRARd | 10 12 8 20 11 4 5
Find the mode of the following distribution :
Class 20—25|25-30|30—35 [ 35—40 | 40—45 | 45—50 | 50—55
Frequency 10 12 8 20 11 4 5
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23,

24.

25.

AABC ¥ ADL BC ¥ fag #ifie f : AB?+CD?=BD*+AC?
In AABC if ADL BC, prove that AB*+ CD*=BD*+ AC?

AT /OR
; % RQ* RS

< ¢ 3Thfa ®, ~PQR=90°7U1QS L PR ¥ fiag #ifste fa o=

Q
Psg R

2

In the given figure, ZPQR =90° and QS L PR. Prove that I;gz = %

Q
P s R

T T R (sin265° + 5in?25°) + sech-cosec (90° — 6) — tan-cot (90° — 8)
tan20° tand0°-tand5°-tan50° tan70°
(sin?65° + sin?25°) + sech-cosec (90° — B) — tan@-cot (90° — 6)
tan20°tan40™ tand5" tan50° tan70°

o forenmerd # e X w1 50 B # Suwdl (¥ F) & ol fRd ) wdem F e s
T T | S HIEA F RIS :

g (Jf H) : [120—130 [ 130140 | 140~ 150 [ 150~ 160 [ 160~ 170 | Fe1 4w
B @ e 2 8 12 20 8 50

A survey regarding the heights (in cms) of 50 girls of class X of a school was conducted and
the following data was obtained. Find its mean.

Height (in cm) 120—-130 |130—140 |140-—150 |150—160 |160—170 | Total
Number of girls 2 8 12 20 8 50

Evaluate :

@ug-g/ SECTION-D
T T 25 § 34 T FeAF WA F 4 3 €|
Question numbers 25 to 34 carry four marks each.

SV UFAEUEST 1 WA HTh 72, 126 T 168 HI .. U1 AH. T HioQ | 7@ +f s fH

qH. x W9 # GEAH H1 UHE
Use prime factorisation method and find the HCF and LCM of 72, 126 and 168. Also show
that HCF X LCM # Product of three numbers.
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28.

29.

30.

et TeiteRtor g R sTreret fafl @ wet wife :

2&-y=2 ; 4x—y=8

& HHil g e st 1 x— sl & W whesfia fige % Frvis 9w Ak |

Solve the following pair of equations graphically :

2x-y=2 : 4x—y=8

Also find the co-ordinates of the points where the lines represented by the above equations
meet the x —axis.

s WY 5 (sinA + cosecA)? + (cosA + secA) =7 + tan?A + cot’A.
Prove that (sinA + cosecA)’ + (cosA + secA)’=7+tan’A + cot?A.

Fore=t et 400 Fei sl < Sftom et <uidh & 1 T e 1 HeAeh St e i i

Sfer et (S 8) | a1 qen
1500 — 2000 14
2000 — 2500 56
2500 —3000 60
3000 - 3500 86
3500 — 4000 74
4000 - 4500 62
4500 —5000 48

The following table gives the distribution of the life-time of 400 neon lamps. Find the
median life of a lamp.

Life time in (hrs) | Number of lamps
1500 — 2000 14
2000 — 2500 56
25003000 60
3000 - 3500 86
3500 — 4000 74
4000 — 4500 62
4500 - 5000 48

FGIG 203+ 32— 6x — 3 % Wt Y[ A FIAC S 0% & 321 — 3 a3 &

Find all the zeroes of the polynomial 2x3+ x2— 6x -3, if two of its zeroes are — /3 and /3.
31T /OR

afe G fo= % arei A 1 g oo ST e w0 A @ 1 w1 e o, @ e 1 @ e ¥ AR swE W

ﬁ1ﬁgﬁmm?ﬁu€%@mﬁ‘r%l whmang ?

If we add 1 to the numerator and subtract 1 from the denominator, a fraction becomes 1. It

also becomes % if we only add one to the denominator. What is the fraction ?

T e Py # g Ff for ol o e 9w < yonedl & it & < & s g )

Prove that in a right triangle, the square of the hypotenuse is equal to the sum of the
squares of the other two sides.
379 /OR
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33.

34.

fag e fa < wored Byl 6 &swel 1 ST STt T {oedi & ST % &l % auat
21

Prove that the ratio of the areas of two similar triangles is equal to the ratio of the squares
of their corresponding sides.

g FIRTT 6 (cosecd — cotB)” = L icon

1+ cosh
1- cosb

1+ cos6

Prove that (cosecd — cotf)’ =

T gHag e § fag I 6w o0 & 9l % 3 T Su U o o F o F AR
R R

In an equilateral triangle, prove that three times the square of one side is equal to four
times the square of one its altitudes.

APQR ¥ THfg foh sing = cos Ol

2
e
In APQR, show that sin E = cos Q ; &

e S9a & 50 Wil 1, Seiigan e e § wed ¥ 1 3 kSl % fard w @ sifrss aren dron
TART :

Tt (S A) : | 135— 140 | 140—145 | 145—150 [ 150—155 | 155160 | 160—165
qef A wEn 4 7 18 11 6 4

Height of 50 plants in a garden were recorded and data is presented below. Draw a more
than ogive for it.
Height (in cm) 135—140 | 140—145 | 145—150 | 150—155 | 155—160 | 160 —165
Number of plants 4 7 18 11 6 4

-00o0-
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